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1. BEZROL
(1) BEIRE
REEEZIFR 1,000 2,000 A 1,000
BHEEEERSE 1,000 2,000 A 1,000
ZWMASE 70, 000 50, 000 20, 000
ZWMA=EE 70, 000 50, 000 20, 000
EZEXMEE 30, 000, 000 31, 200, 000 A 1,200, 000
HESBERMEE 200, 000 200, 000 0
HAZREE 10, 000 10, 000 0
ZMEEE 30, 210, 000 31,410, 000 A 1,200,000
EEERRE 300, 000 500, 000 A 200,000
EEH TN 300, 000 400, 000 A 100, 000
AT R FRFTE RN 30, 000 40, 000 A 10,000
FEAFERND 2,700, 000 2,900, 000 A 200,000
RIREBERENG 500, 000 600, 000 A 100, 000
INRR R R ILFE RN 10, 000 100, 000 A 90,000
FEVRIZEE RN AR 50, 000 50, 000 0
R E A 4N KB R & AR AE 149, 000 0 149, 000
ZDfhE RN 3, 000, 000 10, 000 2,990, 000
Ex e e 1,039, 000 4, 600, 000 2,439, 000
ZHFR 100 100 0
ZWITESME 50, 000 50, 000 0
AN 100, 000 70, 000 30, 000
FEURAEET 150, 100 120, 100 30, 000
fthxEt A > DIRAEURAFT 0 0 0
BEEEEE 37, 470, 100 36, 182, 100 1, 288, 000
(2) BREER
EES
BHFY 19, 000, 000 19, 000, 000 0
REHRAER 485, 000 624, 800 A 139, 800
EERAE 2,500, 000 2,550, 000 A 50,000
BAIELE 1, 500, 000 1, 680, 000 A 180, 000
HEE 100, 000 200, 000 A 100, 000
REE 50, 000 50, 000 0
REXEE 200, 000 200, 000 0
BISERE 1, 500, 000 1, 500, 000 0
BInEAE 468, 000 234, 300 233,700
HEMASRERE 200, 000 300, 000 A 100, 000
HEME 100, 000 100, 000 0




M B 4% HEE AT E 1B R HMBER
EEE 50, 000 50, 000 0
AR M 5t LR 50, 000 50, 000 0
NS A% 2, 500, 000 2,500, 000 0
2 BEMNE 800, 000 1,000, 000 A 200,000
SEKHE 250, 000 250, 000 0
=L 800, 000 800, 000 0
R 150, 000 200, 000 A 50,000
BBk 1, 300, 000 1, 500, 000 A 200,000
HBAR 150, 000 150, 000 0
& 200, 000 250, 000 A 50,000
XiEEE 1, 500, 000 2,000, 000 A 500, 000
BHE 150, 000 200, 000 A 50,000
LEERE 800, 000 800, 000 0
RitE 1, 000, 000 2,000, 000 A 1,000, 000
FEREE 150, 000 150, 000 0
XHFHH 200, 000 300, 000 A 100, 000
) —R % 300, 000 400, 000 A 100, 000
fRep#d 450, 000 500, 000 A 50,000
HE 150, 000 100, 000 50, 000
EXEE 37, 053, 000 39, 639, 100 A 2,586,100
EEE
aHFy 5,100, 000 5,100, 000 0
REHRAER 135, 000 175, 200 A 40,200
EERAE 850, 000 850, 000 0
BIELE 320, 000 320, 000 0
BEE 50, 000 50, 000 0
REE 100, 000 100, 000 0
REXEE 150, 000 150, 000 0
BIEERE 200, 000 200, 000 0
BInEAE 132, 000 65, 700 66, 300
HEMASRERE 100, 000 100, 000 0
HEME 100, 000 100, 000 0
EEE 50, 000 50, 000 0
AR M5 LR 0 0 0
NS A% 300, 000 300, 000 0
=2 BEMNE 50, 000 50, 000 0
SEKHE 100, 000 100, 000 0
=L 250, 000 250, 000 0
fRER R 100, 000 100, 000 0
BBk 500, 000 1, 200, 000 A 700,000
HBAR 100, 000 100, 000 0
ENE 100, 000 150, 000 A 50,000
XiEEE 400, 000 400, 000 0




M B 4% HEE AT E 1B R HMBER
EHRE 50, 000 50, 000 0
LEERE 0 0 0
RitE 100, 000 100, 000 0
HEREE 10, 000 10, 000 0
THFHH 300, 000 300, 000 0
)—2Z% 100, 000 100, 000 0
fR=F#4 110, 000 140, 000 A 30,000
HE 50, 000 50, 000 0
EVESACIEN 0 0 0
EHEEE 9,907, 000 10, 660, 900 A 753,900
RET~DIRH BT HE 0 0 0
REERAF 46, 960, 000 50, 300, 000 A 3,340, 000
LR EIERER A 9,489,900 A 14,117,900 4, 628, 000
2. BRESMEBOR
(1) #EEsRE
5|84 ERALE 0 0 0
& & FEST A AT 0 0 0
RENMEEE 0 0 0
(2) RENER
B & EST AR FR 0 0 0
B B S A & 5 0 0 0
BEERBHRAERG 0 0 0
BENERG 0 0 0
LEARESMEREE(1)-(2) 0 0 0
(3) th=FHREEE
fh = EHREERRT 0 0 0
(4) FiwE
FliRE 1,000, 000 1,000, 000 0
FlieEs 1,000, 000 1,000, 000 0
LA — AR IERREA R RI AR A 10, 489, 900 A 15,117,900 4, 628, 000
EAH - ERBRUSEES 70, 000 70,000 0
LA — AR IERREA R RI AR A 10, 559, 900 A 15,187,900 4, 628, 000
—RERMEHRAEERS 184, 210, 481 174,904, 003 9, 306, 478
—RIERIHERARES 173, 650, 581 159, 716, 103 13,934, 478
I $5 5% IEBR A EE R D 5D
EE & EZ DT 0 0 0
— A IERREAEE~ DIREREET 0 0 0
L AR T IE BB EE IR IR AR 0 0 0
EEERMEARES 0 0 0
IN IE BRRA EE AR %
EREERRES 173, 650, 581 159, 716, 103 13,934,478
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